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2017 November Cisco Official New Released 300-360 Dumps in L ead2pass.com! 100% Free Download! 100% Pass Guaranteed! |
have already passed Cisco 300-360 certification exam today! Scored 989/1000 in Australia. SO MANY new added exam questions
which made me headache?.. Anyway, | finally passed 300-360 exam with the help of Lead2pass! Following questions and answers
are al new published by Cisco Official Exam Center: https://www.lead2pass.com/300-360.html QUESTION 61When reviewing a
design for avoice over wireless deployment, what per-call bandwidth cost should be factored in when determining maximum calls
per cell using SIP and G.711u asthe codec? A. 64 bytesB. 8 bytesC. 80 bytesD. 10 bytesAnswer: C QUESTION 62Which
two factors influence the density of APsin adata-only WLAN environment? (Choosetwo.) A. the number of clients that will roam
through the facilityB. thetype of controller chosenC. the defined coverage area and customer needsD. the number of APs
dedicated to voice servicesE.  channel reuse and WLAN bandwidth Answer: CE QUESTION 63Which type of information should
beincluded in an installation report? A. A complete characterization of the external WLAN environment.B.  The exact number of
usersthe WLAN will support.C.  Soft copies of configuration for switches, routers, controllers, and location appliances.D. A
detailed description of the WLAN environment during the post-installation testing, for example, number of people present, furniture,
no furniture, and sources of interference present. Answer: C QUESTION 64Which two pieces of physical infrastructure information
should be included in the installation report presented to the customer? (Choose two.) A. A list of router and switch models, seria
numbers and locations.B.  Thetotal square footage of the customer'sfacility.C. An analysis of the facility exterior wall and roof
construction materials.D.  The cable scan results for the entire customer facility.E.  Aninstallation inventory of al controllers and
APsinthe WLAN coverage area. Answer: DE QUESTION 65Which two factors influence the density of APsin adata-only WLAN
environment? (Choosetwo.) A. Channel reuse and WLAN bandwidthB. The type of controller chosen.C. The defined coverage
area and customer needs.D. The number of clients that will roam through the facility.E. The number of APs dedicated to voice
services. Answer: AC QUESTION 66When designing and deploying an outdoor mesh network, what is the appropriate RF cell
overlap? A. 10 percentB. 15 percentC. 20 percentD. 25 percentE. Application dependent Answer: E QUESTION 67What is
theresult if aclient radio isincapable of supporting all the 5 GHz channels you have deployed in the controller or APS? A. You
may only be able to deploy 20 MHz-wide channels.B.  This may result in the client having to roam more frequently to find a
channel it supports.C. This may result in coverage holesin the network.D. Y ou may only be able to deploy 40 MHz-wide
channels. Answer: C QUESTION 68lIf you are calibrating for 2.4 GHz and the site will not be using 802.11 and 802.11b data rates,
what should be done to ensure an accurate calibration? A.  Make sure that the access points have the unused rates disabled.B.

Make sure that you are using an 802.11b client when calibrating.C. Make certain that there are no legacy clients when performing
the calibration because they will disrupt the process.D. Make sure to use a client that supports both 802.11b/g and 802.11a.
Answer: A QUESTION 69What two factors could cause a post-deployment audit to show a high retransmission rate for the WLAN?
(Choosetwo.) A. CRC errorsB. Rate shiftingC. CCX compatible clientsD. High SNR valuesE. High RSSI values Answer:
AB QUESTION 70When designing aWLAN, AP placement isimportant. How would you rank the density of APs needed to
support location services versus data and voice services? A.  Voice and data services both require a higher density of APs than
location services.B. Data services have alower density of APs compared to location services, but more than voice.C. Voice
services have the highest density of APs over location and data services.D. Data services have the lowest density of APs compared
to location services, which has the highest density. Answer: D Lead2pass 300-360 PDF dumpsiis perfect! Totally! Thanks so much!
300-360 new questions on Google Drive: https://drive.google.com/open?d=0B3Syig5i8gpDU1VGRGVieEdIWGM 2017 Cisco
300-360 exam dumps (All 94 Q& As) from Lead2pass: https.//www.lead2pass.com/300-360.html [100% Exam Pass Guaranteed]
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